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Question ID : 1626532237

W g F TR AT RTITIF N E T FEOT LI F =2 91§50 8
Polite (@s7) - Discourteous (37@s) : : Audacious (TTEd) :?
Ans 1. Distinctive (fr9m)
#< 2. Dauntless (A=)
W 3 Fearful (s73sfra)
< 4 Disregarded (39f&ia)

Question ID : 1626532245

Q4 mmn, 3 W F Tge & B S| 9ge, I§ Ieal B aTF 2
SRl T8 &, 9F A% AR HE S 3R S T 9geA e 150
Tl & d wgeE gi w4 8

Ans X1.330 m
X2 425 m
V'3 500 m
X 4 350 m

Question ID : 1626532239

@S 2 waTTE wEwAnHt #1045 ¥ A FEast w1 queEwe Far 32
Ans X 1. 484
X 2 2025
v 3 506
X 4 529

Question ID : 1626532250

Q.6 mﬁ:ﬁaﬁwnﬁmmmaﬁgcnm#m, "Ig FY T A A F UHAT 9 F § Hr
Tt 21"
e T, STF ST 9T w1 Afer & = O 3

Ans




XFE
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X 3 FAag | ATel /| oE= [ ST / AT
v ooTme

Question ID : 1626532240

Q7 sy dema vt a e il sk e v aw oy | ik ll o S A= & &5
TAH &1 TE FAEAT FET E, oo &7 I8 HTHAR W AT gt ¥ e TmE 1 ;e w98 i e
o & FT I Ty T w7 @ ik BEE w7 @ wuE o O =1

Fua |- wel 7 72 &
Fua |I: FT 7 aee

o | 3o e TF &
fors=d 11 i siee = w8 B

X et e o wa E
X 2 Faer SHY || HJEIOT FT B
X 5 el T@SHY | HFETOT HIT B
v o T A T | A s 1| ST e

Question ID : 1626532243

Q-8 3y g & wUH L S 9T 3 ¥ S U g @ Hetod ¥ S F 92i2 9g 1 @ welRT
Untamed (3565T): Wild (S=TeTr) : : Cultivated (Srar [ a

Ans (1. Crass (H33)

v 2 Refined (9ssd)
< 3. Boorish (3f3rse)
X 4 Innovative (INEaATHF)

Question ID : 1626532244

Q.9 omw, witfr & & ¥ I, G e SR A ¥ T, it @ o4 ¥ oig drm S o A §
7Y, GAaT B e A wFT § WG 98 @AE A Had wal gl gl
& 7 wEfdl F 9Ew AT (TS # FIH) FiT 87

Ans x-lﬁmt_'n-
X2 T0 G 97 T TR
AR Cic
X4 gy

Question ID : 1626532252




Q.1
0

F Ram T A9 I e ST & A f G R § e, fed e aer o w
gttt war &, 3maa e g arel WX & iafattes axar § 3R goa wsf g e o1 &
SafAfeT T 81 fhas B 08 FE Fod A Tef 9er I § afees fawelr

Ans

ans of 118
X29
X312
X4 7
Question ID : 1626532235
°1‘1 3T 3T NG F TIF FY ST A BT a7w I 7 7 o7 ¥ vt w=ar b
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Question ID : 1626532238

Ans

Q; 3 weT F U H I W T Fr o AR & T smer F wE T F [ FEm

1, 2, 6, 24, 120, 720,
< 11440
v 2 5040




X 3 5240
244900

Question ID : 1626532247

Q.1 o 7 o # 3T g Tl AT g AT w1 HEw 1 e gy e §) afy 5 dew gu & Fow
3 2210 ¥ 3 U gERT 7 g9 3 AN 4 A gy wled W = A S R fraer 32

Ans X 1. % 948
X 2 % 546
V2 % 756
X4 % 315

[ Question ID : 1626532249
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Question ID : 1626532233

S & S amgfed & T i por wEw A R

ans X113
v'2 14
X310
X411

Question ID : 1626532236




Q.1 zfr feg ' = '+ F omyr iy U B+ F T SeEe B ST ¥ (3Eeage 5 BT oew ) & A
6 Ry T www F AeT T E
65 x5 +6-5+2

X183
X279
X< 3 96
v 4 81

Question ID : 1626532246
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Question ID : 1626532234

e A

x1.m
X2 HH
X 3. heRET
o 4 ATl

Question ID : 1626532251

Q.1 =i &7 o= & Ren 7 7 Bo ge, @h W A 8B ) A o B | A& 7 gl e &
9 S A R ¥ & ARF F Faw T = ¥ A5 I F T F A A § AT (07 F
= & e & FiT e 7

X 1. pfaer
X 2. FHAT
X3 AT
W 4 3T

Question ID : 1626532248




062 T TEAN ¥ Fed &, "B =, sues far F far & o # vwAr aw= f g g

N F TEER T AT Y FAT T 27

e X1 grem | SsgAE / &R/ IS
X2 TaRa 78 & 51 g
X 3 o e [ e
VAR

Question ID : 1626532241

Section : General Awareness

Q ofEw g (Fover) 387 Soe oATa@g & & g 3o & dafo &7
Ans xm a

v 2 e

< 3. H=TAT

2 4 FTEERET

Question ID : 1626532271

Q2 offrg AEF aRF e EAraad F I sTST A €

W 2 TS

X 3 fg=dr
X 4 FTrdr

Question ID : 1626532270

S g TEAT AT F FA F kT 1857 Hﬁaﬁg:{aﬂ oT?
e X1 ATE TeERT

V2 FiE S

K3 w8 sl

X 4 g gifseT

Question ID : 1626532261

Y PR # @ 5w ToT # 37 o &9 o e 7

Ans




X STFH TF FEAER
v 2 3TUTES 9geT
X s AT wor
X4 EFRH

Question ID :

1626532258

¥ w5 w Fea e gaer B e
Ans (1@11_

< 2

X 3 dorEe

X o Rafeea

Question ID :

1626532265

6 e &1 TeAfafRE FA-@ /A 7 F 7 ¥ T IR BT 22

M gfter HEe
X2 gEar #Ase
X3 FAEERRER

- adda
uestion ID :

1626532256

gy & ufear @ A # smee-vee e R
Ans X1W

K 2 HEAH

v R

X 4 wrer gearwor

Question ID :

1626532266

8 ety -1 3aRET B BERET § ¥ B 2w geig 32

Ans X 1 wE
v 2 e
X 3. FATAT
X 4 ZiEor ST

Question ID :

1626532267




Q.9 oo # & fre a¥ # SR  TeT Gl Seite R e R T O
Ans X 1.1850

X 21952

v 3 1951

< 4 1953

Question ID : 1626532263

U saETeT TR ReRRT A T Y e ¥ weRe
A XK. wfger guf@asor o

v 2 AT e afsEr

X 3 T 9iTEs A

X4 Yora T & afEsar

Question ID : 1626532255

U s ST BT s TETS & OEH BT 87
A o T TredvEET

X 2 FgTeAIeE

X 3 FaTET ol Agw

X 4 FER 9

Question ID : 1626532253

U e TS F dTOs #2iT 97
Ans x1m

X2 gaeg |

v 5 fasmerar

X 4 AT

Question ID : 1626532260

Q; et ST B JAgReT WTHES # g o & fov el # ¥ #i9 a1 Aves a4 82

Ans ?(1,
froer 3 o8t & ST T 25,000 T ¥ 3Hoe &1 HEg Jies FRER]

X2

I & et F gga rgaan Guife aEsfE darafEr $ o g = veeEw F gEeEe)
508
Fecaqur afvgw sufafy / seteda afmmes g arfge |




v AR T ST 9og @ =fee

Question ID : 1626532254

U i W F TeeaE § ¥ e Reen w7 e Ad e 32
Ans 1. o

X2 drar

v 5 REE vF g

X4 FaRe =/ fFEEa

Question ID : 1626532264

% edEmie ToiEr RE v & fRm R
Ans Xl ﬂﬁﬁ
X 2 urgelE

v 3 rrAR

Question ID : 1626532269

% frea s| REw &8 Hamaw S0 27

s oo adda
v21#\s S
X310 AT ="

X 4 8 S H

Question ID : 1626532268

Y wfrg s d@er s et v 32
Ans x1$ﬁf

X 2. ST

v gag @
X4 e

Question ID : 1626532257

°é1 Tf® Seue ey Tug # WErarad & ¥ fhw 3w ¥ o aar §7

Ans




X 1. FATET
X2 g TH. €. (3
v g, & (37013)

X 4 stesfor

Question ID : 1626532262

Q§1 freafaf@a & ¥ #ia @ SR g=o GEpla & S GEIRT ATl AET ST AT °91?
Ans “1_@@'{

X2 g

PS4

X 4 HIT

Question ID : 1626532259

062 FATET o Hew Bf3uA, 98 e Featf@e # ¥ frw 99 amiee & v gfae 82
Ans X FaEEr

v 2 wyefeFm

K3 gre

X 4 ot
a uestion ID : 1626532272

Section : Arithmetic Ability

Q.1 2 40,000 & TR Fr 10% TMWF & R, THF YR W TFgie o= W, 30 79 F o FFer B
= &1 A uf A gy, wfoew # G #2

Ans X 1. 25.85%
X 2 27.25%
X 3. 27.85%
V' 4 27.05%

Question ID : 1626532286

Q.2 i 12 cm Fsar =19 3o & TF =, FF 9T 607 F AT a4 ¥ ged ¥ EEOT @S H AT cm?
#, U SUFATT T 9 HEY, R § (m = 3. 14 & 39heT w1)?

Ans X 1.182 em ?
X2 754 cm?
¥ 313 ¢cm?




X4 388 cm?

Question ID : 1626532284

Q.3 15 gramat v aitma 70 ¥ s @, ggdr 8 gwmnat v aitma 65 ¥ el AfEw 8 wwmnat @ atmw 95
21 ofy Few HEar @ "RT T I S § ar o "eant & e (Uh gerAed T J% |8 #4r
&

Ans X 1. 69.4
X2 705
X 3 586
v 547

Question ID : 1626532278

% 3524740082 T AT FAT FT?
Ans x1' [}ﬁ

X2 0123

'3 0.130

v 4 0120

Question ID : 1626532276

Q.5 w7 T 2022 & s F ¥ AT 5 T @ A 724 ¥ wa O W & 3w A A

o
Ans XL 6
adda
v 3
K45

Question ID : 1626532279

Q.6 el T & 300 o N TedH T F AV A AGEAA FOAT A F A4S Faw) g 75% A
TOE T TOF T AT 60% 7 FEEEE W Taw T ¥ O ot Rt = owuw G o 7 &

Ans X 1. 155
X 2120
V3105
X 4175

Question ID : 1626532281

Q.7 A B & goen & #ffF & w7 # A 7o FUT §1 TR A, B F 120 O FH F T FA 7 T § A
F I T WY B T 3T FH F fede 5 F &7 G 7

A o145 g
X260 g




<3 40 e
X450 g

Question ID : 1626532287

Q.8 =1 &, vw, A ¥ B Fr W w0t & v i g@d B ¥ A % v wmw &g, Ty W o Eh §1 B
ﬁgwﬁmﬁﬂ:m,aﬁmr:4_5d%3ﬁ¢8d%aﬁmﬁazﬁwq§am%mﬁraﬂAaﬁrn%
40 v /S g AT B H Ot (e vmr &) e B0

Ans o130 RREY / TeT
< 2 35 BFaY / wer

xS.%ﬁ:ﬁum
X 4 25 T / war

Question ID : 1626532290

Q'guﬁ:%= a — b+y35 & ar a — b T 9RUME FIT M7
As X1 g

xX28

v 7

K45

Question ID : 1626532275

Q1 rfrsdm framar 25 L & 8 e sk = S o & T
0 AT AT IS 2 0 3 81 A §W O | 500 mL e
feam ST & o v s # e AR 9w @ s 2w e

Ans of 1.8 : 17
X24-9
X39:20
X46:13

Question ID : 1626532280

Q.1 uﬁﬂé;ﬂmﬁﬁrm@mﬁrﬁm%a‘rﬁzzﬁm@raﬁﬁmqugaﬁré‘lqi?-__,r
1 uﬁ'agsoﬁ:m;d%ﬁ?rﬁrﬁm%?ugmwﬁmaﬁra‘&ﬁqgaﬁrﬁwaﬁrmaﬁﬁr
w1 ®ET §AT, e &, = o

fre X1 42 e
v 2 38 fiee
X3 32 BAae
X 4 28 e

Question ID : 1626532289




Q.1 A allv B, a1 wisw, %A 45 Bee 3t 60 fae & vw &F & o gog ¥ o1 U9 vw Ay @ 9y
2 % oig 24 e ¥ W, T A 5 W A I ¥ & F e & e g ew w6
HTERTHAT &7

Ans x1_ 30 aﬂf
X2 36 ATe
V'3 28 e
X 4 32 e

Question ID : 1626532288

Q.1 1.75 cm =arw 3T 2 mm HeE T BFas 918 F B & Rorer s & & 5.5 cm x 10 em x
3
7cmﬁmﬁa$rmmﬂ$:?(n=?)

ans X1..900
v 2800
X 3700
X 4400

Question ID : 1626532285

Q1 ox aafFm ¥ 2% arg 3= Bftas 777 5 2 W whd ik 58 RRET g5 ¥ 20% e sw oA
ST T wiererT T §7

Ans x 1. 46%
X 2 32%

V'3 38%
X+ 34% a
Question ID : 1626532282

Q; (12)% +(26)% +(24)2 — 18 x 36 + 36 ¥ 44 + 44 X 18
(1.8 +(3.6) —(4.4)> +5.4 x 3.6 x 4.4

Ans K110
# 21000
2 310,000
v 4100

F AT B

Question ID : 1626532273

Q1 5 o 3R veeE # RfEwT FAe & a2 5 F ¥ gEEER o W 40% F ge I § Al
g 9 T BT 30% § A T W AT g F= §?

Ans x 1. 249%
X 2 22%
v 26%
X 4 20%




l Question ID : 1626532283

Q.1 =7 m=as TE F 3 F AT F E S 6, 8, 14 3R 15 @ FefeT e A W gedE Hawr
7 # 3 9v g ¥ s T wE HF 11 @ W e AT B2

Ans X' 1. 14
v 218
X316
X412

Question ID : 1626532277

U (52)2°+ (33)2 - (17)*° % INUTE F FHE TUE W HFAT HF M2
ans o1 g
X220
X34
X486

Question ID : 1626532274

Comprehension:
dar : e aifee & a9 & 400 9RERT & Fo Ffgs caw
& TaoRoT 1 AT T g SR F 9E AR TET weAr

Rl Fcdl E

=T % 1000- | ¥ 3000- | ¥ 4000-
3000 4000 5000

gftart #r 80 90 100

&

SubQuestion No : 19

U R 2o Fr 9 AE F w7 F T
T §, 3 ¥ 3000 - 4000 Hr ofr
O T Jialeireled Fla Jrel ol
T FHET HIT FIAT g7

Ans X1 54°

X272

<3 52°

vog1

Question ID : 1626532293

Comprehension:




fréer : e afermr & a9 F 400 TRERT % Fo 7w =9
& faaeor @ atar mar g aifee #r 9 @R FeT geAt

Rl Fcdl E

= % 1000- | ¥ 3000- |% 4000- | ¥ 5000- | ¥ 6000- | ¥ 7000-
3000 4000 5000 6000 7000 8000

ofiart #r 80 90 100 60 40 30

&

Ans 1.
v &)
X 3
F

SubQuestion No : 20

2 svwa wfdeE =T, FoEr A, &= R

T 3,968
T 4,450
T 3,948
T 3,816

Question ID : 1626532292

Section : General English

Q.1 Select the option which is NOT an antonym of another word by way of adding the prefix ‘mis-’

adda

Ans X 1.
X 2
p
v

mishandle
mislead
mismanage
mischief

Question ID : 1626532305

Q.2 Select the most appropriate option to fill in the blank.

The authorities in Datia have done nothing to improve the condition of roads. the whole town is full of ditches
and it is difficult for sick people to reach the hospital.

Ans X 1. Otherwise
& 2. Moreover
/< 3. In case
v 4 Asaresult

Question ID : 1626532297

Q.3 Select the most appropriate option to fill in the blank.

Indonesian authorities are considering

Ans X 1. abandoning
X 2. emptying

and relocating millions of people if Jakarta continues to sink.




+ 3. evacuating
/X 4. suspending

Question ID : 1626532300

Q.4 Select the most appropriate option to fill in the blank.

A football tournament has been organized Sopore, one of the most affluent towns Jammu and Kashmir
and known as the fruit bowl the Valley.

Ans  of 1 in;in; of
< 2 on: between ; in
/< 3. at;among ; in

/& 4 in; of ; with

Question ID : 1626532299

Q.5 Select the most appropriate option to fill in the blank.
~ rainfall in Kerala caused flashfloods and landslides in upper regions of Himachal Pradesh.
Ans - 1. Titanic
v 2. Torrential
X 3. Torrid
#< 4 Tortuous

[ Question ID : 1626532301

Q6 Select the most appropriate synonym olaim

EMIT

Ans X1 suck
X 2 receive
< 3. digest

W 4 release

Question ID : 1626532302

Q.7 Select the most appropriate option to fill in the blank.

Flashfloods and landslides triggered heavy rains in parts North India led to the death of at least 22
people.

s of 1 by :of
X 2 For:in
X 3 to;of
X 4 by;at

Question ID : 1626532298




Q8 Select the most appropriate antonym of the given word.

DECISIVE
Ans o 1. doubtful
< 2. final

/X 3. positive

< 4 conclusive

Question ID : 1626532304

Q.9 In the following sentence four words/phrases have been underlined. One of them is incorrect. Choose the incorrect
word/phrase from the given options.

After the attack by Talibani extremists six years ago Malala Yousafzai was transported to the UK where
a bullet was removed in her head.

Ans  of 1. in her head.
X 2. after the attack
25 3. where a bullet

/< 4. was transported

Question ID : 1626532307

Q61 Select the most appropriate synonym of the given word.
SUSTAIN
Ans 1. prevent
. adda
/< 3. stop
v 4 continue

Question ID : 1626532303

°1'1 From the options given below choose the sentence that is not correct.

Ans XL

They argue that the rapid increase puts stress on infrastructure, demanding more schools. hospitals and public
transportation.

52
However, it also leads to a higher growth for Australia’s economy:.
v &)

Immigrants pays taxes and work in areas that Australians avoid.

p

As in many western countries, some politicians in Australia have called on the government to curb immigration.

Question ID : 1626532308

Q.1




Select the most appropriate option to fill in the blank.

Pyarelal his job last November and since then has not been able to find another suitable job.

Ans X 1. Jose
< 2 has lost
v 3 lost
< 4. is losing

Question ID : 1626532294

Q; Select the most appropriate option to fill in the blank.

Mr. Kapoor  in this colony for thirty years when I first met him.
Ans X1 lives
+' 2. had been living
X 3. lived

X 4 has lived

Question ID : 1626532295

Q. " . -
41 Select the most appropriate option to fill in the blank.

it was very windy. we went for boating in the Naini lake.

Ans x 1 If
' 2. Though
/X 3. Because

X 4 Whether

Question ID : 1626532296

Q.1 Arrange parts of the sentence in meaningful and grammatically correct order.

A, around the world. had asked for

B. help as he was rendered immobile

C. Abhilash Tomy, who was sailing solo
D. in a message via satellite phone

E. after a serious injury during a storm

Ans X 1. DECAB
X 2 CDABE
v 3 DCABE
X 4 CABDE

Question ID : 1626532306

Comprehension:




Read the following passage and answer the questions given after it.

A floating restaurant, Ark Deck Bar, capsized near Bandra-Worli Sea
Link (BWSL) on Friday afternoon. As many as 15 workers who were
on-board the floatel were rescued by the police. The floatel was
hosting its last event before monsoon.
“Around 1.30 pm after we learnt about the floatel capsizing off the
BWSL, a team was sent. The ship owners informed us that because of
gusty winds the floatel swung and hit a rock. Due to the impact on the
boat’s hull, it developed a hole through which water started seeping in.
The crew was rescued and within a few hours the boat capsized,” said
a senior officer from the Mumbai Police, who spoke on the condition
of anonymity.
The crew, which had been cleaning up after the boat’s final sailing for
the current season, had tried until 5.30 pm to mend the hole in the hull,
but were unsuccessful, police said. With water seeping in the vessel
dangerously, the crew decided to evacuate and were taken off the
vessel by a patrolling Mumbai Police boat.
BMC disaster control room said that it received a call from the police
at 7 pm regarding the capsizing and the rescue of 15 people. Two fire
engines, an ambulance and a fire brigade watercraft were deployed to
assist in the rescue operations. the BMC said.

Earlier, on Friday, Ark Deck Bar had tweeted: “Experience the
colours of sunset, chilled beats & ocean waves make the perfect ending
of our last evening. We will be back by the end of Septembery till then
stay tuned.”

Maharashtra government has been promoting floatels as a part of their
main attraction for coastline tourism. Currently, three floatels are
operational near Bandra-Worli Sea Link and two are proposed near the
Gateway of India post-monsoon.

Secretary, Mumbai BJP, Vivekanand Gupta had tweeted twice in the
last six months, alleging that the floatel’s owners had been operating it
without any requisite permission. Having tagged the BMC, the state
government and the Indian Navy in his posts, Gupta claimed that the
authorities turned a blind eye towards his claims.

“It was a fishing trawler illegally converted into party yacht Avior
operated by Ocean Blue at Gateway of India. It later shified to BWSL
after it was renamed as Ark Deck Bar,” Gupta claimed.

SubQuestion No : 16




Match the words with their meanings.

a. anonymity 1. necessary
b. evacuate 2. obscurity
C. requisite 3. abandon

Ans  of 1. a-1, b-3, c-2
X 2 a-3,b-2,¢-1
X 3 a2, b-1,¢-3
X 4 a-2,b-3,c-1

Question ID : 1626532312

Comprehension:

adda




Q.1
7

Ans

Read the following passage and answer the questions given after it.

A floating restaurant, Ark Deck Bar, capsized near Bandra-Worli Sea
Link (BWSL) on Friday afternoon. As many as 15 workers who were
on-board the floatel were rescued by the police. The floatel was
hosting its last event before monsoon.
“Around 1.30 pm after we learnt about the floatel capsizing off the
BWSL, a team was sent. The ship owners informed us that because of
gusty winds the floatel swung and hit a rock. Due to the impact on the
boat’s hull, it developed a hole through which water started seeping in.
The crew was rescued and within a few hours the boat capsized,” said
a senior officer from the Mumbai Police, who spoke on the condition
of anonymity.
The crew, which had been cleaning up after the boat’s final sailing for
the current season, had tried until 5.30 pm to mend the hole in the hull,
but were unsuccessful, police said. With water seeping in the vessel
dangerously, the crew decided to evacuate and were taken off the
vessel by a patrolling Mumbai Police boat.
BMC disaster control room said that it received a call from the police
at 7 pm regarding the capsizing and the rescue of 15 people. Two fire
engines, an ambulance and a fire brigade watercraft were deployed to
assist in the rescue operations. the BMC said.

Earlier, on Friday, Ark Deck Bar had tweeted: “Experience the
colours of sunset, chilled beats & ocean waves make the perfect ending
of our last evening. We will be back by the end of Septembery till then
stay tuned.”

Maharashtra government has been promoting floatels as a part of their
main attraction for coastline tourism. Currently, three floatels are
operational near Bandra-Worli Sea Link and two are proposed near the
Gateway of India post-monsoon.

Secretary, Mumbai BJP, Vivekanand Gupta had tweeted twice in the
last six months, alleging that the floatel’s owners had been operating it
without any requisite permission. Having tagged the BMC, the state
government and the Indian Navy in his posts, Gupta claimed that the
authorities turned a blind eye towards his claims.

“It was a fishing trawler illegally converted into party yacht Avior
operated by Ocean Blue at Gateway of India. It later shified to BWSL
after it was renamed as Ark Deck Bar,” Gupta claimed.

SubQuestion No : 17

The main theme of the passage is that:




X @ floatel capsized near Bandra- Worli Sea Link and
" 15 onboard were rescued.

v? a Police patrol boat rescued 15 member crew of the
~ sinking floatel.

a floatel capsized on its last day of operation
* before the monsoons.

< 4. an illegal floating restaurant sank in the sea.

Question ID : 1626532310

Comprehension:

adda




Q.1
8

Ans

Read the following passage and answer the questions given after it.

A floating restaurant, Ark Deck Bar, capsized near Bandra-Worli Sea
Link (BWSL) on Friday afternoon. As many as 15 workers who were
on-board the floatel were rescued by the police. The floatel was
hosting its last event before monsoon.
“Around 1.30 pm after we learnt about the floatel capsizing off the
BWSL, a team was sent. The ship owners informed us that because of
gusty winds the floatel swung and hit a rock. Due to the impact on the
boat’s hull, it developed a hole through which water started seeping in.
The crew was rescued and within a few hours the boat capsized,” said
a senior officer from the Mumbai Police, who spoke on the condition
of anonymity.
The crew, which had been cleaning up after the boat’s final sailing for
the current season, had tried until 5.30 pm to mend the hole in the hull,
but were unsuccessful, police said. With water seeping in the vessel
dangerously, the crew decided to evacuate and were taken off the
vessel by a patrolling Mumbai Police boat.
BMC disaster control room said that it received a call from the police
at 7 pm regarding the capsizing and the rescue of 15 people. Two fire
engines, an ambulance and a fire brigade watercraft were deployed to
assist in the rescue operations. the BMC said.

Earlier, on Friday, Ark Deck Bar had tweeted: “Experience the
colours of sunset, chilled beats & ocean waves make the perfect ending
of our last evening. We will be back by the end of Septembery till then
stay tuned.”

Maharashtra government has been promoting floatels as a part of their
main attraction for coastline tourism. Currently, three floatels are
operational near Bandra-Worli Sea Link and two are proposed near the
Gateway of India post-monsoon.

Secretary, Mumbai BJP, Vivekanand Gupta had tweeted twice in the
last six months, alleging that the floatel’s owners had been operating it
without any requisite permission. Having tagged the BMC, the state
government and the Indian Navy in his posts, Gupta claimed that the
authorities turned a blind eye towards his claims.

“It was a fishing trawler illegally converted into party yacht Avior
operated by Ocean Blue at Gateway of India. It later shified to BWSL
after it was renamed as Ark Deck Bar,” Gupta claimed.

SubQuestion No : 18

Which of the following statements is NOT true
according to the passage?




X 1 BMC disaster control room received a call about the
* capsizing of a boat at 5.30 p.m.

x 2 Before operating as the floatel. The Arch Deck Bar
* was a fishing trawler and a party yacht Avior.

Vs Maharashtra government has been promoting floatels
as one of the main attractions for coastline tourism.

x 4 BMC deployed two fire engines, an ambulance and
~ a fire brigade watercraft to assist in the rescue operations

Question ID : 1626532313
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Read the following passage and answer the questions given after it.

A floating restaurant, Ark Deck Bar, capsized near Bandra-Worli Sea
Link (BWSL) on Friday afternoon. As many as 15 workers who were
on-board the floatel were rescued by the police. The floatel was
hosting its last event before monsoon.
“Around 1.30 pm after we learnt about the floatel capsizing off the
BWSL, a team was sent. The ship owners informed us that because of
gusty winds the floatel swung and hit a rock. Due to the impact on the
boat’s hull, it developed a hole through which water started seeping in.
The crew was rescued and within a few hours the boat capsized,” said
a senior officer from the Mumbai Police, who spoke on the condition
of anonymity.
The crew, which had been cleaning up after the boat’s final sailing for
the current season, had tried until 5.30 pm to mend the hole in the hull,
but were unsuccessful, police said. With water seeping in the vessel
dangerously, the crew decided to evacuate and were taken off the
vessel by a patrolling Mumbai Police boat.
BMC disaster control room said that it received a call from the police
at 7 pm regarding the capsizing and the rescue of 15 people. Two fire
engines, an ambulance and a fire brigade watercraft were deployed to
assist in the rescue operations. the BMC said.

Earlier, on Friday, Ark Deck Bar had tweeted: “Experience the
colours of sunset, chilled beats & ocean waves make the perfect ending
of our last evening. We will be back by the end of Septembery till then
stay tuned.”

Maharashtra government has been promoting floatels as a part of their
main attraction for coastline tourism. Currently, three floatels are
operational near Bandra-Worli Sea Link and two are proposed near the
Gateway of India post-monsoon.

Secretary, Mumbai BJP, Vivekanand Gupta had tweeted twice in the
last six months, alleging that the floatel’s owners had been operating it
without any requisite permission. Having tagged the BMC, the state
government and the Indian Navy in his posts, Gupta claimed that the
authorities turned a blind eye towards his claims.

“It was a fishing trawler illegally converted into party yacht Avior
operated by Ocean Blue at Gateway of India. It later shified to BWSL
after it was renamed as Ark Deck Bar,” Gupta claimed.

SubQuestion No : 19
°é1 What was the reason for the floatel to hit the rock?

Ans 1. Cloudburst




' 2 Calm winds
/< 3. Gusty winds
X 4. Overload of people on it

Question ID : 1626532314
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Read the following passage and answer the questions given after it.

A floating restaurant, Ark Deck Bar, capsized near Bandra-Worli Sea
Link (BWSL) on Friday afternoon. As many as 15 workers who were
on-board the floatel were rescued by the police. The floatel was
hosting its last event before monsoon.
“Around 1.30 pm after we learnt about the floatel capsizing off the
BWSL, a team was sent. The ship owners informed us that because of
gusty winds the floatel swung and hit a rock. Due to the impact on the
boat’s hull, it developed a hole through which water started seeping in.
The crew was rescued and within a few hours the boat capsized,” said
a senior officer from the Mumbai Police, who spoke on the condition
of anonymity.
The crew, which had been cleaning up after the boat’s final sailing for
the current season, had tried until 5.30 pm to mend the hole in the hull,
but were unsuccessful, police said. With water seeping in the vessel
dangerously, the crew decided to evacuate and were taken off the
vessel by a patrolling Mumbai Police boat.
BMC disaster control room said that it received a call from the police
at 7 pm regarding the capsizing and the rescue of 15 people. Two fire
engines, an ambulance and a fire brigade watercraft were deployed to
assist in the rescue operations. the BMC said.

Earlier, on Friday, Ark Deck Bar had tweeted: “Experience the
colours of sunset, chilled beats & ocean waves make the perfect ending
of our last evening. We will be back by the end of Septembery till then
stay tuned.”

Maharashtra government has been promoting floatels as a part of their
main attraction for coastline tourism. Currently, three floatels are
operational near Bandra-Worli Sea Link and two are proposed near the
Gateway of India post-monsoon.

Secretary, Mumbai BJP, Vivekanand Gupta had tweeted twice in the
last six months, alleging that the floatel’s owners had been operating it
without any requisite permission. Having tagged the BMC, the state
government and the Indian Navy in his posts, Gupta claimed that the
authorities turned a blind eye towards his claims.

“It was a fishing trawler illegally converted into party yacht Avior
operated by Ocean Blue at Gateway of India. It later shified to BWSL
after it was renamed as Ark Deck Bar,” Gupta claimed.

SubQuestion No : 20
@2 Which of the following happened first?

Ans  of 1. The crew tried to mend the hole.




/< 2. The boat swung and hit a rock.
< 3. Water started seeping in.
#< 4. A hole developed in the boat.
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Question ID : 1626532381

** LCD & @ ot ' &

A X1 @mer #TS 2T@@9X (Large Card Developer)
X 2 fafdss #erx B (Liquid Colour Disk)
X 3. Tifdas Fase= B (Liquid Connection Disk)
v o fafFag fereer BT=e (Liquid Crystal Display)

Question ID : 1626532379

Q4 7= =% Rerw st T AT Y ¥ WET TR F STOA A § A 38 F S A

Ans

X1 T EF FT ATH ZETHT HIAT ATH STolaT =gTl
X 2 HTITHAT FFER SHH TIRA e TR

X 3. TFTRIE FEae] 0 el dMgu (TE)|
v+ SEgfa #T FIfRT et & =

[ Question ID : 1626532376

Q.5 er Rl oI 1 RE RRRE ¥ W A aoT 2T § ST sl Sl & o ¥ S e S g,
o 3T 38 FAT Tolg a9

Ans {1,
A & e & 3T 39 AE-far = 57 S A7 §90)
X2

qar ST fF FET 3T 3T mw“ia:\‘afra‘rﬂwé’rmmﬂﬁ'g’mﬁ'l
X 3. oger A S Tl T Ig= Y AT 99 399 FHe
X 4 FEAU I HALET F|

Question ID : 1626532377

¥ OHP & 7 qof w7 &

A 1 3R g2 =TT (Over Head Projector)
X 2 39T gIic 9enHE (Over Heat Programme)
X 3. 39T g WEmA (Over Head Programme)
X 4 39T g8 ®eT (Over Head Printer)

Question ID : 1626532378
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Ans ?(1%3 %

]

v Erafeaa
X3 amErer A
A4 TEEaTiteaT

[ Question ID : 1626532386

Q8 gummative assessment is used as:

Ans X 1. Assessment for learning

/< 2. Assessment as learning
' 3 Assessment of learning

K 4 Assessment in learning

Question ID : 1626532383

Q9 waTeHE e B FEE =S aiE ¥ FE w9 & afite B 5 gear 2
A X Taeamdf sk R & @ o ve arer

X 2 g aieT
X 3 gfiest & v spEen
v R 3R et & 9 e aer

Question ID : 1626532382

% T sfa-gmer (Frsde) Rt & mee e @ war 32

Ans (1,
FATITT Fr B == 6T et Fraga F o S A

X 2 fRemfiat gacafea #3F arfeh T JgR
X3 gur ¥ for mfes waT iR v &
X 4. Remfiat #r efanr @Afcse s &

Question ID : 1626532392

QT el Wi Fr e e # wee e st # seerw fow AT a2
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X220
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U srrmeEfag gdufae geure gfue F Bw awr F e 2
ane 1. 20

X219
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V17

Question ID : 1626532388

Q.1 gruffs w7 F orE & o A g e Gl & o e B & 399 & 51 ge6ar §7
3

l Question ID : 1626532395

A Toat F ST Hs H IR F g% T 82
Ane X 1. STE SEHT AN FUr S &
X o G 1 i & ST

Vi Fg I EAAES T Y AR A F
X4 FF F9raT ST g

Question ID : 1626532389

U =R T FF 9T ¥ e fes 2
e X1 S oTEr @ 9feT F Riw duR =T
X 2 Fr e & OT g & 39IET ST &N

X3 St BrEr & =0T QIHET 396y 4 &

v &
TR 3R 3T Fest & FRT o sReATyt A s Sae w3 gl

Question ID : 1626532393

Qé1 orHr # erEErEer F guUR F P e aw & afalfmt Fr deer sa s e oo




Ans X1 FU ereat Fr U
v o fEET, Ieed, FEaE
X 3 AU ereg orEeT
X 4 FAT AET FT IS FLAT

Question ID : 1626532385

Q.1 Tr=fafd Fua W 29w &t 3t sfRE fSFe &1 =37 &1
7 ofr gm o, wEw T ¥ @ ¥ W S g g § ok oE cofee s aeens Ad w
HehaT I

XK 7w S g
X 2 gg 3Tl FTAEE B
X 3 I T SAFET 2
v 4 Tg TE FHAERT ALl ¢

Question ID : 1626532380

% ot ve & T TR e F1 2

Ans x1_
o F FT & T WA SA Hr Wgioad gl
V2 aftlg % aR # omEr # A g HHeG e
X 3 quFpa A& WD F1 SECATT S|
K o+ el ol # 3% T F dgd gl Tl

Question ID : 1626532394

U o F A F 3k P ITTCTET Sl FaET AT B

Ans {1‘_%;'#,1:'3#
X 2 gee ; e
X3 g ; forae
K4 aree ;g

Question ID : 1626532391

Q(-Jzﬁaw;qg%a@qwaﬂ?ﬁ F ST s Fr T FF g Hr S ARE?
X Srufdead Rem & fael e & w9 A
X2 graffes @eT ¥ 9ud 9 F w79 H




X3 wrafFes Rem ¥ gdw o1 F w7 H|
v o grafde fRer & g & w9 A

Question ID : 1626532384

! S Fr T F RO w9 gegea BT S age?

Ans 4’1,
Ig o & A= @R oaiiiE wreT # #de ¢
52
g TN T ST WA § alleh NaTH 3 FE S T F Tehl
X 3 g T T fgaw & o wfFmEa g

X 4 Jg AT IR 7 dfFa g

Question ID : 1626532411

Q2 far v Fua W AR F1 3R 3R fFwew &1 w1
TaeRoT T F qET Hofhy SE/oEIHT H REAARE ¥ A FIA §E e
a. AEATas el & g, Tglas 3R awfes, oed 3 T &
b, STH/GTIHT & F= AgeaquT el @ T4 h ATTHAT
c. 37 THEROT ¥ HEEE mEemt Hi miERt w1 R e, geaiee s AR s s F
TETH AT

Ans Viasgcms ¥
X2p 3R caET &
Xspakdadr
Xaagsirbadrg

Question ID : 1626532400

Q.3 arFafas e aifeufodl & 2 Fafeat & Jfw Sfea Ftae @1 GFw o g gl 22
T=Tof@T # & Fi & Faiear F1 ¥ HRAT §5pa 3R Fed F A6 87

A X anfEre S (3RTEe AEeEw)
v 2 SaE FuTT
X 3 ZaT Fr egFuT
X o afere & A

Question ID : 1626532415

M e & @ P o aes #F 3BT 78 = g 22

Ans




X . BrfgEar ¥ 759 o
X2 BEifsor & 95 o
X 3 Breesioar & 7va sE/oET

v 4 AT EIEISIE]

Question ID : 1626532407

Q.5 grufier =wor # ey geat 3R O onfde &St # gafEwer sewms 9w S forenfye & g
& 38 TaTRoT FEeaAe o o i e F Tvm F afiw S &

" 1 wEfREE SeTgEaE
X2 sier: Rear e gead
K 2 ST TEAR
X ¢+ g AeagEAh

Question ID : 1626532401

Q.6 fygmem ¥ T W T AAE an 5 ¥ B & A9 HeeT S yoneET gt § S s
HTait F e F R w7 B e B

X . sfemr, sEier 3R TE e
X 2 =faEE, T AT AT §A o
X 3 =fEgmg, TAs e 3 gaeRu faea
v . SR, $TNeT, TTellfer QMET, eRmET

Question ID : 1626532404

Q.7 gruferrs femmer % oesa & B wE & i TR Fr onfEe B s R SfE =t
I BT TET F HR 3§ FEE W F Aeg w7

X 1. TSt 3R e
X 2 FogaAT, e, ek

X 3 veeifesn, SHaTEeS

v &
glzar, IFsar |, Fehell, TICAT, SHATA, SHaTSl, STeiraTel AT FU<|

Question ID : 1626532409

Q8 Who has developed Mastery Learning Strategy?

Ans o 1. B.S. Bloom
& 2. John Dewey




/< 3. Dr. Howard Gardner
X 4 David Ausubel

Question ID : 1626532397

R = er B g o i e e i )
Ans X1,

Tt B w1 oseaas guEr f FRear dk @l gEw sogea o svme & owew g
F & T AgeE gl

X2
TR AT F 3T TF Faa # Feg 7T § T oo gt # S T vER A meir
TR W TEEUT FFH FET gl

X s

Safafraer v gonfoat FF Reed @9 & a9 % 39 B FEee % B swier e woseaas
faamr &

o -
freaeT TR W TR0 A & 3euae i SO9Eur SEiAT & e § O oo ol FAEnat
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Question ID : 1626532402

Q.1 gAfes Beme & 3eags a=ar & 3 w R T ¥ AT T TEe s F R
0 speaqet ¢ fomer wfoewma aoit 3R @RS 0T ¥ weeEE FE-aEae X §EE u=a 8

Ans xl ﬁ *ﬁ
X 2 grATeres st
v o WTATSE T
X« e de

Question ID : 1626532403

@71 What type of intelligence is measured by drama activity?
Ans X 1. Existential Intelligence

/< 2. Audio, Natural Intelligence

/< 3. Intrapersonal Intelligence

o 4 Verbal, Spatial, Musical Intelligence

Question ID : 1626532408

02.1 frafaf@a & & #la TR e & 9 §9 @ 6] S S g Y oarer 7@ 32

Ans xm
OIF / ST & 379 9@ ¥ A & § 9= #7857 2

2 3UgFA HFG I AN FHA
p




ATaT-Rrar 7 AT TAfEET F HIgET FEE|

p
ifafafer amenfa ot & &9 &5 #§ Sguar =)

Question ID : 1626532398

Q1 @ g7 § 59 ggia 3R Tomor & s=ai & THL TR & TE AN A G S © 8
3 & B ww AR T R e F FOEE R aAe s d

Ans J1q%%-m3@ﬁ
X2 gfgT A
X3 garrer fvaqor
X 4 gl fRramor

Question ID : 1626532399

Q.1 o =" weTsH § a=ui = 0 TRRRet § uwuiEs Semew F Puwr #@ onfie Far wire S
4 s & THST H THE I

o wretae st e auteror

X 2 grtayoTeAs gadr Y gEiSE gumer
X & WATS® AR AT 78

X o gAY AEgias Em

Question ID : 1626532405

Q.1 grufes X F oTH & R A G 97 Fi9 6@ aeRs T § e e gefam & w9 & ardiw
S gfRrerur wr e Fr amERTEaT T B2

Ans xm ﬁ;
X 2 gy #r FAr
X 3 8N, 38, FFH

W 4 FreTT, ﬂgﬁg

Question ID : 1626532410

061 it & TAE FErur 3t wR Raa F ehia & Rew Seaeag 7 ¥ 9 R 8y F e
@ fewwT 27

Ans o1 oS
X 2 HEATCHS
X 3 graTaes
v FAETeAS




l Question ID : 1626532414

Q.1 w=rrew 3R Faweaor FeeHT gaRT fRiRE # & S e dtw Rew & Semtet@a s ot @ i
7

A XK.y Shee andr @ e ik Tme
X2 Sfaa F Hlerer A WHATTSF HeJgerar

v &
sy T, a8y fauer 3t o gefg Ot & e & Sy

X 4 Fe=T F ATIA-TTeT 3T T==T T S@HTT

Question ID : 1626532413

U Far Fr WeT 3 F FIT oo andr §2
e o ST A

X 2 et et F T AATHE

X o Freaerr seuw $ sy

X4 o SO T & sromET & o

| Question'ID : 1626532406

- = - — = - —

4 r=fefm & @ #iF-m e 71T ¥ FRe et @ 3
K. T, gus P (@ )

X 2 sITascHS it

X3 grafaes Flee

v o T1fy, TEedT, TaTodT, SieTadl, TEeee

Question ID : 1626532396

Q.2 Erratic, emotional and unpredictable are the common characteristics of which of the following stages?
0

Ans X 1. Old age

# 2. Childhood
' 3. Adolescents
/X 4 Infancy

Question ID : 1626532412

Section : Subject Related
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F UH SO AR WEE AP FE F w9 H GG A §, Ol A 9 & U e
fre & = # zmatyd B o ¢ o See ofvomress o aege @ #9 seOew @ € S
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X 2 99rET R
v 3 T e

X4 Hig F g

Question ID : 1626532425

Q.2 Famereie wfiveror et F= F T 9T e § Sww s 7 g F e e F
forr = 7 #

Ans (1.
fafdrz e, dede AR AT 39F0T gFd TReHUT F AE

X 2 RreT 3R A= & Aleer wgiadr # FEee

A5 e fdelt Fr Agad & v awar afe w
X 4 TNBTOT TSR F AT H HETAA A

[ Question ID : 1626532428

Ans X 1. 3 gT A SREae @ e

X2
AT F T @ g aTer ATt & S AT W e

X 3 grefr 3T TUEs gE
v i e 3R aee o aese e

Question ID : 1626532417

Q4 gryfEes R & yeudT SraeiE F TR Beefge § O #iF 5 o S P
Ans ?{'1,

fafirse et & yuT S & Feeme, wwoT a1 AR, oA Regew sy

X 2 qIAEOT FT TEUSA

p

ST, HETge = AR A Reter @ @gaer &

(4

T T U W UG Ha-G5 TUETeRT F1 TIGETOT AR FiRvator

Question ID : 1626532432

Q.5




TegmeT & o / o F =T & fmae F v 5o e F A9 gEue T AEeTaT 2 2
K. e 99 e, IRERE, TeEE, gUET Ted

X 2 Tpe FHISHET, T
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Question ID : 1626532420

Q6 srprafier weve #F Riee &1 sifee # Trwtafa e @ &, B v & osa-
e XK. Fw fOretor WUET  F @TY W ST

v 2 TSTHA IR

X3 ot & osmaee

X 4 IIESTHRA e H AdTER

Question ID : 1626532431

Q7 graorst & fore GHieReT GREE SwTe TE & R R aE 9 S S e
A Rigmmem ¥ AT § 9 S § 9 aeme

X 2 iy et & 9w ST

X 3 AT H Y Y& B sEAATC|
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Question ID : 1626532423

Q.8 Rrem HIew F HOAT TET e Fr AfEt & AR F0 TAgET WU ¥ TAT & ScEEs
Hﬁ@g%,ﬁ%%ﬁmﬁ#mmﬁmwﬁamﬁﬁm?m
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e X Rw farers ww
v 2 wiEsEs R g
X 3 Taegem wfRfa
X 4 e aTed |

Question ID : 1626532429

Q.9 Tyczrerw R F ofErt Fr e & e v 39w Fw 2
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c. grer-grer famw e
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e X1 a sk d
v2a bi3lRc
X3b d3Rc
X4aakob

Question ID : 1626532435
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Question ID : 1626532430

01.1 YW FNE § S o F B F aw ae ae We F w9 SEga F § 60T # IAE
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A
"X yeefEE AR S e
X 2 3T @ FeOeaiHae AR IfFaera s
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Question ID : 1626532427

G o/ orEt & gren & v ddews & s #@a 2r
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Question ID : 1626532422
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3
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X2
TASTT & TEEIT B TFHo & FAGAT H AMHST gt & HHI0T

v 3 fRreret AR IRERT *F gfRET o
X4 FHEE ¥ WeEd & wry fAufda daF wear

Question ID : 1626532434

U PR # ¥ e R Ged ARRRE A
e X T [ ot & aRdeEar # R

X 2 Tre 3R === ﬁ"g?mFIT

X s @ #r afdear AR wefos qoo

v 4 mrar-Rar S ardse

Question ID : 1626532424

Q1 3gRE = @ wEaF o AFE TR F o Gt & st & g dar @ 31 feeint
5 o o & w4 F B B § ¥ Y a==E # seame S FE 82

M o ST ST
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Ans (1_
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Eeeic

X2
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e X1 Regre afeR #F W e # aer w5
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Ans 2(:1,
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Question ID : 1626532426

Q.1 sSchool has a total responsibility of students® safety and security. School has to follow the norms related to students’
9 safety and implement them wherever required.

Ans - X 1. First statement is reason and second.statement is.calise
v 2 First statement is cause and second statement is reason
X 3. Second statement is effect of first statement

/< 4 First statement is effect of second statement

Question ID : 1626532421
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